XEgnES R1-081

12 PG
120 R
20| 35
- - NHHPS
= O 27yL2 t=15 HUtE
) - BaHEEAS 2
(70-15 + A6 +8A6.8) mH
(31%) 27U t=15 HUtt
Y- J (AR) NHH HESY
27vL2A t=1.0 HUtt
THES
27YLA t=15 HUtt
o
KR 7o
e
& BRI
27U t=1.5 HUtE @
-
BEh
© 27002 t=1.5 HWE Ny 2R
g @ @ TN t=1W=30
™~ M47 2 2E 2
o~
DY KigR 79—
0 ~BKY)
o 27VL2 t=15 HUtt \ | @@%y 27002 t=15
~ _—— 1]
= ‘ _— YT
o ©
L
- /\]LB} } FUN-£8 AFULR t=2
ZBRAY)Ya A N \\\f?iJ \ |
© i
o L mir-2 [-30x30x3 Ex45
! (TIRER - BIE%HE)
£ L—65x65%6 (Ri2)
ST (AR)
\
DY
20 —BkY
# 2702 t=1.5
HUt +
30 #EBOTA
32 ALC 100 BRBOTE =T s =
/ 32
Bk () 7@9»7»;)7“1 98¢
19F =047 1806 - < spey
2 olET] S LREY LM D —1.
‘ \—HMZ(%\JL@) BT a A bR S=1:2

@7’\%/“9“’\

£S5y REERER SUSSH P AE-2N\wF5U | FPo_SUS— AR - R fra e = R =mrsnoasTyosRel
2 WrmHE e JEes L :

e 1 1l E % - B Aﬁ T T T o

Rl 5 T 3 - EB 52 N £ _




